Max Marks : 100
ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Machinist Grinder
Year: 1st Year
Exam Date :
Exam Time :
Note:
1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)
3. There is no negative marking
AV o i
I\Slg. QID Question Body and Alternatives 4 RS Marks Nf/lg;t:e
TRADE THEORY N

1 From the following which one is a general safety? 1.0 0.00
5 5 P O T I e R
Al : Have a calm attitude
T Mid FAINE
A2 : The work piece is securely mounted
THUT BT GRIET TU J ST IoTHR 3@ §
A3 : Concentrate on your work
3T HTH W A bisd BT
A4 : Keep the floor and gangways clean and clear

1A SR WY TG
. ./ TRADE THEORY

2 While grinding, which one is used to protect eye? 1.0 0.00
ST & SR a1 IUanT Sia®! qRem & fod fosan ofrar g2
Al : Dark green glass
NI
A2 : Mask
A3 _Sun glasses
yq % F=H
A4 : Safety goggles
qR&m

TRADE THEORY
3 For general fire which type of extinguisher is used? 1.0 0.00

AT 3T & o forg Ut & Sif¥me o1 IuanT fobar S g2

Al : Water type extinguisher

A2 : Foam type extinguisher

T TRY HRRMS

A3 : Dry chemical powder extinguisher
T IS T3eX




A4 : Carbon —di-oxide extinguisher (Co,)

CACEER CRl RS PREED

TRADE THEORY

Colour code for bins for waste segregation, for PAPER is.....

PAPER & foTU SR gyahrur & forg fesd & i 91 w1 Y forar wman g 2

Al : blue colour
Har

A2 : yellow colour

BISIEYS

A3 : red colour
GISEU

A4 : green colour

BT

TRADE THEORY

The best way of avoiding accident is by.......

GHeAT W 97 BT qaY ST A I HTH HAT |

Al : doing work in ancient way

RN i T HTH BT

A2 : doing work in ones own way
T BT

A3 : observing safety rules related to job, machine and work piece

Sife 7= 3R g U ¥ Tafdd gRefm Ham e

A4 : away of normal working
T BB J G2

TRADE THEORY

A2 :60°
60°

A3 :5%0 10°
5%o0 10°

A4 12%0 15°
12°t0 15°

TRADE THEORY

During marking the reference surface is provided by..........

T & SR g Tag GRT UG o St 82

Al : sketch of the job
BEEARSE

A2 : work piece
CEAvIn
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11

10

11

A3 : marking off table surfaces

Tdsl & g s

A4 : surface gauge

g s

TRADE THEORY

Steel ruleis a ........

Al : marking instrument
RICE]

A2 : precision instrument

s e

A3 : checking instrument
NIERSEER

A4 : direct measuring instrument
Yl AU T AT

TRADE THEORY

A cutting tool used to cut outside thread is called............

T IS B PTe P T IuTIT f5aT S a1aT T Ble BT JUIR ... HEATE

Al : drill

<

A2 : reamer

A3 : die

A4 : tap

TRADE THEORY

The most suitable pitch o?he h;cksa; blade for cutting thin section tube is..........

T Ug YoM P} & B] Bl & AT 3941 IS 1 Gy Iugad U 52

Al:0.8 mm
0.8 mm

A2 : 1.0 mm
1.0 mm

A3: 1.4 mm
1.4 mm

A4 : 1.8 mm
1.8 mm

TRADE THEORY

File card is used for .....

BIEd BT1S.... & e IUANT fobam Srdm 82

Al : cleaning the work piece

THUIG BT I B & forg
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A2 : cleaning the file teeth

¥t & gid 96 A & forw

A3 : renewing the file teeth

TI3A & &idl B AdI-igd B & forg

A4 : cleaning the chips

f2reg ) 91 A & forw

TRADE THEORY
The point angle of twist drill for general purpose is........ 1.0

g IERY & g Als e e g diug ... .

Al:135°
135°

A2:118° I
118°

A3:90°
90°

A4 : 60°
60°

TRADE THEORY

Al : control the pressure

EEIEEARE R EREaE |

A2 : lock the spindle

o8 ) 5 e B

A3 : adjust the zero error

3 S WA bR o

A4 : hold the work piece
S .

THeA H

TRADE THEORY

A2 : 60°
60°

A3:90°
90°

A4:120°
120°

TRADE THEORY
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Al : copper
GIC]

A2 : high carbon steel

HEEIERES]

A3 : mild steel
e ©id

A4 : cast iron
HIRC HRRA

TRADE THEORY

Which of the following instruments is used for checking flatness and squareness of surfaces? 1.0

Fafifed & @ f&g Iumu &1 SUA Tdg) B e 3R bRl 61 wird & fre favar Sirdr g2

Al : Try square

A2 : Vernier height gauge

IR gge I

A3 : Slip gauge
wo IS

A4 : Bevel gauge
a9

TRADE THEORY ',
The taping hole should be...... 1.0

Al : Larger than the tap size
AU F S A ST

A2 : Equal to the pitch diameter
O 2T & IR

A3 : Equal to the tap size
2D PR D RIS

A4 : Equal to the core (mifior) diameter of the tap
PR AT & SRIeR

TRADE THEORY

Al : copper and tin
PR 3R fe

A2 :lead and tin

S SR o

A3 : copper and zinc

R fiw

A4 : copper and silver
DR

TRADE THEORY
The cutting action of the file depends upon..... 1.0

0.00
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BT Xt B Hien Hrfarg AR et 82

Al : forward stroke

A2 : reverse stroke

Rad €l

A3 : Forward stroke and reverse stroke

BRIS K AR Rad €iep

A4 : Inclined stroke
ECgiEIRE

TRADE THEORY

The material of twist drill is generally.....

fowe A dt Tl SR R ...... 81

Al:HSS

A2 : Carbide steel

PEEs Ld

A3 : Diamond
SIIHUS

A4 : Cast iron
HIRC AR

TRADE THEORY:

What is the main purpose of annealing?

ST 1 Jo So=d 1 82

Al : To increase softness

P T & g

A2 : To improve magnetism

JEDHE H YR B & g

A3 : To increase hardness

HORA B FeH &%, fog

A4 : To increasejtoughness

ey

TRADE THEORY

Which'ene of the following elements of an external thread cannot be formed with a single point thread cutting tool during thread?

T 98 & Ffafead adl B A 1 91 dd 38 & SR Uhd fog 38 Bleq aId SUHRU & 1Y 18T ST o Jehd 82

Al : Root

=c

A2 : Helix angle
A3 : Thread angle
PEEaU

A4 : Crest

TRADE THEORY

1.0

0.00

0.00
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A hole, which is not made through full depth of the component is known as?

T B¢ o Ueh BT I3} TTERTS & AT\ I T S Sl 3 =0 o o

Al : Core hole

A2 : Blind hole
ESESKS]

A3 : Pin hole

ot v

A4 : Bore hole

SRl

TRADE THEORY
For taping with M5 tap what size drill will you use?

TH 5 U & A1y fUT v 90 oMY o SR & f&d &1 ST i

Al : 4.5 mm
4.5 mm

A2 :4.0 mm
4.0 mm

A3 :3.8 mm
3.8 mm

A4 :3.5mm
3.5 mm

TRADETHEORY

Cast iron is used for manufacturing machine beds because....

PRE TR BT IUGNT HMHI & SF s P R AT Sirare, i .....

A1 : it can resist more compressive stress

Tg 3 AT T1d BT faRY R bl &

A2 : it is heavy in weight
T8 I A W ©

A3 : it is cheaper metal

Tg Tl u1g

A4 : it is atough.metal
YE.USH HOR U1 &

TRADE THEORY

The value of the smallest dimension on sleeve of a metric outside micrometer is

IR ASHHIR H U Hifed B Wiid IR T I A BT Jed ... ]

Al :0.50mm
0.50mm

A2 :1.00mm
1.00mm

A3 :1.50mm
1.50mm

A4 :2.00mm
2.00mm

A G

0.00
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TRADE THEORY

The distance a drill advances into the job in one complete revolution is known as.......

TH R TG B e B U 3 oifiom g8 & wq o S S g

Al :rp.m
Rl

A2 : cutting speed

BT B

A3 : feed

A4 : machine speed

ERIECIRIIT)

TRADE THEORY

Which one of the following drilling machines is used for heavy duty work?

Frafafaa o 3 we {3 a=ia o1 Suai 4R o 3 e feoar wmar g2

Al : Bench drilling machine
=i

A2 : Pillar drilling machine

Yier ffe i

A3 : Radial drilling machine

g fefer a=ia

A4 : Electric hand drilling machine

Faifdee g fgfem it

. TRADE,THEORY

The process of producing a component with tough and duetile eore and hard outer surface is known as........

BER AR T BR & 1Y T T b SUGTBIUBIIGR HER ST6d Gdg b T H ST Sl ¢ beaid ¢

Al: l}ardening
A2 : case hardening
A3 : tempering
A4 apnealing

TRADE THEORY
Why do you use cutting fluid while drilling?

31y fE e wra Trg ara vard &1 IuanT 4t v 32

Al : To cool, flush the chips and reduce tool wear

oo o1 BUST SR TR HRA 3R g BT RS Y B e & o

A2 : To avoid the corrosion of polished parts

Giferer T o &RUT Y e o forg

A3 : To use it as a cleaning medium

U IS & ATEOH & TT H UG B3 & fog

A4 : To avoid colouring of the chips

[ESERURCEECARY

0.00

0.00
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TRADE THEORY

Which one of the following mechanical properties of metal enables a metal to be made into sheets? 1.0

o1 & e i 1ol § 9 ue fed & ey & a9 § G ST 82

Al : Ductility
A2 : Hardness
A3 : Toughness
THY

A4 : Malleability
EIER]

TRADE THEORY

Al : stabilised chromium steel

RR wiftes ©a

A2 : high carbon steel

NECERES

A3 : high speed steel
g1e Wis Wa

A4 : nickel steel

[REZURSIN]

", TRADE THEORY

Which one of the following dimensions shows,the: lar-gest tolérance? 1.0

Al § ¥ 19 91 Oy 9ad 9e) ey axiidl g7

Al +0.05

40.07"

A2 ~0.05

40.07%

+0.01

400

A3

A4
. —D.QD
40.07%%

TRADE THEORY

Tube micrometers is used to measure one of the following of tube or pipe......... 1.0

9 B QU oge TShIiier &1 IUANT e AT Uy § 9 fHft U & . AR & fo fpar S g1

Al : outside diameter
EIRRICR

A2 : inside diameter

3R T
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A3 : difference in diameter
IR H R

A4 : wall thickness

R * A

TRADE THEORY

How does the hand reamer differ from a machine reamer?

P g1y BT TR AT FAR 3T 22

Al : Less number of cutting edge

P TS B HH e

A2 : More number of cutting edge

PHTea B YR D1 TP T

A3 : Unequal spacing of the cutting edge

PleA & R B SR gt

A4 : Longer bevel lead for the cutting edge

TR 99¢ A4S BT TH &

TRADE THEORY
The angle of IS thread (V shaped) is.......

IS IR (VI HTHI ......... !

Al:29°
29°

A2 47v°
470

A3:50°
50°

A4 :60°
60°

TRADE THEORY

Morse standard tapehis one of the internationally accepted standards taper which available in numbers from

A LSS TRSGMTA TR W WPpd AFS H A TH ¢ ol & ... FEsf & Suas g

Al:1to7

187

A2:1to8

198

A3:0to7
07

A4:0t08

098

TRADE THEORY

A1l : run the machine smoothly taking least load

Y FHY AS AHR TR0 FIE ¥ J Fals Y
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39

40

41

4

A2 : run the machine quickly

=+ P e} g™ & forg

A3 : stop the machine immediately

TR &1 R b & oy

A4 : produce work piece of greater accuracy

3fF TelHdT & B & T BT IdTeT H3 & g

TRADE THEORY

Which one of the following is the best way for preparing an emulsion?

9 A A DI 1 T SHATH dIR B BT Ja 33T aRIbT 82

A1 : Mix soluble oil and water by pouring both simultaneously

Waﬁshwﬁﬁaﬁaﬁqasmuwm

A2 : Add water to the soluble oil

AR aa & o

A3 : Add soluble oil to the water

T+t H it ot

A4 : Lubricant oil with water

Tt & 91y fRBTS aren ad

TRADE THEORY

What is the name of lathe operation of removing metal from the work face?

TRIG HTORR T T A1 § Sl 9 B § U1 B FabTerar 82

Al : Plain turning

i T

A2 : Step turning
A3 : Grooving
A4 : Facing

TRADE THEORY

While dr1111ng on lathe the drill is held in the .........

AR EAIRA T ..... T fga &1 Ao &t St B

Al : head stock
TS XI®

A2 : tail stock
TARD

A3 : compound rest
HHI3S LIh

A4 : bed

3

TRADE THEORY

Choose the correct formula to find revolutions per minute (N), if the diameter of job(d) in mm, and the cutting speed (v) in m/mm
are given ...

ﬁ%ﬁﬁzﬁa@m(mwwwﬁ%@aﬁmﬁﬂﬁaﬁmmﬁaﬁmwm)aﬁ?m/mmﬁmﬁaﬁrr%(v)ﬁu
?

1.0

0.00
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Al
by in
1000

A2 esx1000

ml

N

A3
. _ Lxn
F =60

A4
A CSx1000
260

TRADE THEORY

Al:0.0lmm
0.01lmm

A2 :0.05mm
0.05mm

A3:0.10mm
0.10mm

A4 :0.50mm
0.50mm

TRADE THEORY

B.S.F screw threads has the included angle of.....

B.S.F {R &1 ST A A BI T G....

Al :30°
30°

A2 :45°
45°

A3755°
55°

A4 :60°
60°

TRADE THEORY

Most common type of cutting fluid used in almost all the machine operation is ...

AT o A e B SN fHU M aTd Ge G TR &6 Bieq aid Ra Uaid 7.

Al : water
A2 : soluble oil

A3 :lard oil

1.0 0.00
1.0 0.00
1.0 0.00
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49

A4 : compressed air

&l

TRADE THEORY
The tail stock of the lathe is situated at the ... 1.0 0.00

AY A P Al ... HRIT R

Al : right hand end of the lathe bed
Y IS P AR FTY & fPTIR R

A2 : left-hand end of the lathe bed
WY AR & I FA F R

A3 : middle of the lathe bed

Y IS b AAH

A4 : bottom of the lathe bed

AY M & dreq A

TRADE THEORY

The half an included angle of live centre nose is......... 1.0 0.00

TTSd e ST BT ATT.... BT

Al:30°
30°

A2:45°
45°

A3 :60°
60°

A4 :90°
90°

y & TRADE THEORY
The taper provided in the nose of theitailstock barrel is.............. 1.0 0.00

O WD R B Aol H STIBGIT ... TR B

Al : morse taper

A2 : jarno taper

A3 : brown and sharpe
ST SR =

A4 : metric taper

X

TRADE THEORY
A face plate is held at............ 1.0 0.00

T Bl @IT H SRS B IR G.ovoe [

Al : head stock spindle
TS Wi wWisd

A2 : tailstock spindle
4 Wi Juied
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A3 : bed

ES]

A4 : tool post

[

TRADE THEORY
A nut is to be made for a screw of M 10 X 1.5. What should be the size of drilled hole?

Th T BT M 10 X 1.5 §p & 1T S0 9T =112 | e F3eE DG BT MHR 1 ST A1igT?

Al : 8.5 mm
8.5 mm

A2:9.0 mm
9.0 mm

A3:9.5mm
9.5 mm

A4 :10.0 mm
10.0 mm

TRADE THEORY

In a metric micrometer, a complete revolution of thimble advances.....

o Hifes ArgepIHieR & S e &1 R guH ST R

A1:0.01 mm
0.01 mm

A2 :0.25 mm
0.25 mm

A3:0.50 mm
0.50 mm

A4 :1.00 mm
1.00 mm

TRADE THEORY

Which heat treatment process is remoying the internal defects to refine the structure?

S ST SUEIR TfspaTH HRET B U d B & (7T, 3R a0 Y gR B 82

Al : Normalising
A2 : Annealing
ST

A3 : Hardening

A4 : Surface hardening
RGEASIEE

TRADE THEORY

Choose the correct formula to find the diameter of job (d) in mm, if the cutting speed (v) in m/min and revolution per minute (n) are
given.

T BTHY BT I B O W1d BT A mm H B T (v) m/mm H 3R g0 ufd fiife (n) femrman g9

AL 1000xv

TARN

d

1.0

0.00
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AL | 7xn

 1000x v
A3 1000xn
- VXR

d

Ad 1000 x n
D d=—

T XV

TRADE THEORY

Which one of the following bonds is most commonly used on grinding wheels?

Fafifed si<a 7 Q te &1 ST IHRId: T <l o fvar S g2

Al : Vitrified

=

A2 : Rubber
ECES)

A3 : Shellac
A4 : Silicate

TRADE T}ﬁ)lg(

The effect of using a glazed or loaded wheel is.......

UTTRIIGR 1 4R g3l iet & SUTNT R o ol UHTT B..40....

A1l : Less heat generation

A T Jar bR ©

A2 : Good surface finish

3= g o=

A3 : Less cutting pressure

HY FHled HI gaTd

A4 : Excessive cutting pressure between the wheel face and the work surface

R BY 3R BAYIE & 819 TGl Do eald

TRADE THEORY

Wihich among the following is an artificial abrasive?

U A D A TE HRAT SruEE fka g

Al: Silicon carbide
A2 : Emery

A3 : Diamond

A4 : Corundum

TRADE THEORY

0.00
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A1l : dimensional accuracy with surface finish

SISO Yl I8 =1 3 a1

A2 : pattern of lay
G2l

A3 : position tolerance surface finish only

fRufd eTera baet g e

A4 : positional tolerance

TRADE THEORY

As per Indian Standard, the grain size 46 comes under the group?

YR A & 3R 46 S BT A (5T THE P AT AT 8?

Al : Coarse

R

A2 : Medium
HOH

A3 : Fine
RJER]

A4 : Very fine

_ARADETHEORY

Taps are re-sharpened by grinding?

20 H1 A0S &b GRTY: Ao ST ST &2

Al : Flutes

RETd

A2 : Threads

A3 : Diameter
EIRE

A4 : Relief

TRADE THEORY

The symbol conventionally used for resinoid bond is........

IRFTES ST HRIT ... TRARS 7 1 TaN fbar Sar g |

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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TRADE THEORY
Which bonding material is used for high speed grinding wheels?

g8 Wi ursfoeT fire & o foog sftg arht &1 uai fevar Srar g2

Al : Resinoid bond
dius

A2 : Rubber bond
JS divs

A3 : Shellac bond
BISIERCILS

A4 : Silicate bond
fiferese sive

TRADE THEORY

The terms associated with grinding wheel, A to Z is in increasing order of hardness.

TEFET Ed ¥ IS Tganfl Wk FORA S Ted PHATZH 2

Al : Structure
CRICH

A2 : Grade

A3 : Bond
dus

A4 : Abrasive

. TRADE,THEORY

A grinding wheel marked with C is made with the abrasive.....0...

C ¥ I Rifta mefen i ... suuve HauaTRIa 2|

Al : aluminium oxide
v

SIESIES

A2 :silicon carbide
A3 : diamond
A4 : corundum

TRADE THEORY

Causes to glazing when wrong selection of grade, which one is the remedy?

IS BT TAd TG99 B TR TARHT BT HRU ST & DT T U 22

A1l : Change the coolant

Feic B aqa

A2 : Set wheel to the recommended speed

I ! SR TTfel TR e B

A3 : Select soft wheel in place of hard wheel

TS B & WM W A Gl Bl 994 B3

A4 : Set the feed rate correctly

BIS & el 4 9T B

0.00

0.00
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TRADE THEORY

Al : it is planned maintenance to minimize the unforeseen break down

g YioHTeg R J a1 FaREd 7, I8 U 5 S137 61 HH ¥ HH Bl g

A2 : this type of maintenance is generally performed by operator himself

T UPR B TERETE AR TR SRR gRT W B ol §

A3 : this type of maintenance involves the use to sensitive instruments
S YBR D1 IR H HaaT=iTe SUDRUT ATl

A4 : it is repairs work carried only when machine break down

T8 TR 1 BT 8, AL gl W &) fbar ot &

TRADE THEORY

Which abrasive do you use for grinding carbide? 1.0

& Fefss & R g UeR & sruoys o1 U farar Srdr 82

Al : Corundum

A2 : Tungsten carbide
E’ Ea

A3 : Silicon carbide

A4 : Aluminium oxide

SRS

& TRADE THEORY
Which type of wheel dresser is used for rough eylindrieal grinding? 1.0

5 UPR P el ST BT STTNT HIe R SeTBR IS0 3 forg fhar Sirar g2

Al : Star dresser

WR W

A2 : Corragated disc-type
<RY

A3 : Lockedwheclidresser

THE e R

A4 : Cylinder dresser

TRADE THEORY
The soft material particularly get clogged in the grinding wheel while grinding. This is called..... 1.0

M Hea wHy AT G Ry T 9 Ui & 9er ol & SQ PRI W ...

Al : loading
A2 : glazing

A3 : truing
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A4 : dressing

TRADE THEORY

The terms associated with grinding wheel are, AA or C that refers.... 1.0

& T J IS et § AA AR C, Te Tafifa .......... EaGkd

Al : Grade

A2 : Bond
dus

A3 : Abrasive

A4 : Structure
CRIEH

TRADE THEORY

Al : diamond

A2 : aluminium oxide
v

SUESIES)

A3 : boron nitride

EINEEEES]

A4 :silicon carbide

y TRADE THEORY

Which range of grain size is referred as Medium? 1.0

oM 7 g arse &) wew i Aefifa i mar g

Al1:10-24
10-24

A2:30-60
30 - 60

A3: 80,180
80:=180

A4 :220 - 600
220 - 600

TRADE THEORY
Which type of lathe centre is used for supporting pipes, shells? 1.0

13T e &) YeRT 37 & I f5d TR & ©RIE S5 o1 SuaNT fabar Srdr &2

Al : Ball centre
1A (Ball) F5

A2 : Pipe centre

TETFR

A3 : Half centre

o

B Iex

0.00
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A4 : Tipped centre

TRADE THEORY

Which one of the following defects is caused due to inadequate coolant in grinding process? 1.0

IS ufsear ¥ Suuitd 2idee & R G A Y HF I SN BT RUT ST 32

Al : Loading excessive wear of grinding
ARFETHT UR

A2 : The finished job not concentric

IR Sife Habfad e gt

A3 : The finished job is undersized
WIR SiTe U ES FH &

A4 : The job finished job oversized

Wi TR B W Sid 98 T8l B §d1 &

TRADE THEORY

The grinding wheel with dense structure will have the following effect on the wheel during grinding..... 1.0

T IR & I TS i & 1Y TS Hd T Fd R Y UG IS

Al : Dull grains fall of the wheel readily

& TH I I S @ R S §

A2 : Dull grains remain in the wheel

A A A/

A3 : Grains remain sharp for longer period

T I THE 7% dl 36 o §

A4 : Grain became dull very rapidly

T g doft I erdl g1 SRt

TRADE THEORY

Which shape of grinding wheel is used torsharpness milling cutters and reamers? 1.0

Y 2MPR & UEfET Fd.s1 STMMARIT e 3R JR 31 av 1 & fre fvar Srar g2

A1l : Straight cup
drer ey

A2 : Flaringicup
AR HY

A3 : Dish

A4 : Saucer

NUMERICAL ABILITY AND REASONING
What is the value of 135 times 247 ? 1.0

135 x 247 B AM 187

Al:33345
33345

A2 :34345
34345

0.00

0.00
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79
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A3:35345
35345

A4 :36345
36345

NUMERICAL ABILITY AND REASONING
What is the value of 30% of 600 + 70% of 400? 1.0

600 BT 30% + 400 BT 70% BT T TATSA?

Al :360
360

A2 : 460
460

A3 :560
560

A4 : 660
660

NUMERICAL ABILITY AND REASONING P
What is the value of X, if 966/x = 193.2 ? 1.0

3R 966/x = 193.2 A X BT HH 133

Yy NUMERICAL ABILITY AND REASONING
What is the value of 378+ 7/ 0.7 ? 1.0

378 + 7/ 0.7 BT HIH IdT38;

Al:71.14
71.14

A2:73.14
7344

A3:75.14
75.14

A4:77.14
77.14

NUMERICAL ABILITY AND REASONING
What is the value of V1521 + 31? 1.0

V1521 + 31 T HH Id133:

Al:50
50

A2:60
60

0.00
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A3:70
70

A4:80
80

NUMERICAL ABILITY AND REASONING
What is the value of 15% of 550 + 45% of 440? L0

550 DT 15%+ 440 PT 45 %WIFTW%?

Al:280.5
280.5

A2:2825
282.5

A3:2845
284.5 |

A4 :286.5
286.5

NUMERICAL ABILITY AND REASONING

What is shafi income, If he spends 60% of salary for his family, 15% for his children, 15% for otlier expenses and remaining amount | 1.0
of'a Rs 6,000 is saved?

3R YW 3Tt TIRGATE BT 60% T TRAR W, 15% 30 Fedl W, 15% gER Gl IR a5 6,000/- & 90 BT g af
IID! HoI ATEATE TSy ©

Al :Rs 55,000
55,000 %.

A2 : Rs 60,000
60,000 %,

A3 :Rs 65,000
65,000 2.

A4 :Rs 70,000
70,000 .

A NUMERICAL ABILITY AND REASONING
What is the value of (3m™+ 5n) - (Sm'- 6n)? 1.0

(3m + 5n) - (5m - 61T AT FT ]2

Al :2m =lln
2m - 1ln

A2 2m+ 11n
2m +1Hn
A3:-2m+ 11n
-2m+ 11n
A4:-2m- 1ln
-2m - 11n

NUMERICAL ABILITY AND REASONING

What is the area of rectangle in cm?, If breadth of the rectangle is 7 cm and length is twice the breadth of the rectangle?

3R ford} ST B SIS 7 em TUT TS, SIS B AT € dl ST DT &ABA em? TAZA?

Al : 96 cm?
96 cm?

0.00

0.00




85

86

87

88

85

86

87

88

A2 : 97 cm?
97 cm?

A3 : 98 cm?
98 cm?

A4 : 99 cm?
99 cm?

NUMERICAL ABILITY AND REASONING

How much 8 turners earn, If 6 turners earn Rs 300?

3R 6 TR 300 T. HHIA & dl 8 TR fpo=T HATG:

Al :Rs 325
3257%.

A2 :Rs 350
350°%.

A3 :Rs 400
400°%.

A4 :Rs 450
450%.

NUMERICAL ABILITY AND REASONIYTIG
How long will 6 similar pumps take to fill this tank,If 3 pumps take 27 minutes to fill up'a tank?

3R 3 T T b bl HRA H 27 fie o & ) 6 77 I T b WRL# fohamil 0T ol

Al : 9 minutes
9 fiFe

A2 : 12 minutes
12T e

A3 : 15 minutes

15 fiFe

A4 : 18 minutes

18 fire

NUMERICAL ABILITY AND REASONING

What is the Vaﬂle of 3; (4x -2y +5)?
3X (4x -2y 5) LA T ]2

Al 12x%+ 6xy -15x
12x% + 6xy -15x

A2 :12x2 - 6xy + 15x
12x% - 6xy + 15x

A3 :-12x% - 6xy - 15x
-12x% - 6xy - 15x

A4 : -12x% + 6xy + 15x
-12x2 + 6xy + 15x

NUMERICAL ABILITY AND REASONING

How much amount would each person get, If an amount of Rs. 61,020 is distributed equally amongst 45 persons?

3R 61,020 F. 45 AT H SRTR 7 WY o YA Y foba <. el




Al :Rs. 1156
1156 3.

A2 :Rs. 1256
1256 2.

A3 :Rs. 1356
1356 2.

A4 : Rs. 1456
1456 2.

NUMERICAL ABILITY AND REASONING
How many Kgs of tea powder will it require for 30 days, If a tea shop requires 45 Kgs of tea powder for 15 days?

Ul‘q’a%ﬁo‘&ﬁamaﬁwa% 15 fat 3 fRIT 45 kgs T B USSR BT TR & o 3 gb I B 30 faAT & forg fopam urssx

Al:75Kg
75 .

A2:80Kg
80 fop 7.

A3:85Kg
8s fwam.

A4:90Kg
90 for AT,

NUMERICAL ABILITYAND REASONING
How much did he sell the motor bike, If Mr.Sathish bought a motorbike for Rs 45,400 and then sold it at a loss of 15% ?

eI A TP SIS 45,400 . B WS TUT ITDT 15% B IR 97 (G| ST5h BT faehd Yo T -

Al :Rs. 38,290
38,290 .

A2 :Rs. 38,390
38,390%.

A3 :Rs. 38,490
38,490%.

A4 : Rs. 38,590
38,590 %.

NUMERICAL ABILITY AND REASONING

Hc;w many d;ys will be taken to assemble 48 machines, If a mechanic assembles 8 machines in 2 days?

M T Hpfep 2 FoT W 8 AR b Srvarelt B AT © af 48 AT b S&vayett P # fobar fo el

Al : 10 days

10feE

A2 : 12 days
12 e

A3 : 14 days

14feq

A4 : 16 days

16 faa

NUMERICAL ABILITY AND REASONING




92

93

94

95

92

93

94

95

What is the side of square in cm, If the area of square is 961 cm?2?

afe; et avf a1 et 061 cmza?ﬁaﬁaﬁﬂ@Tcmaﬁﬁa‘?

Al:30cm
30 cm

A2:31cm
31 cm

A3:32cm
32 cm

A4:33 cm
33 cm

NUMERICAL ABILITY AND REASONING
What is the length of rectangle, If the perimeter of rectangle is 248 mm and breadth is 50 mm? 1.0

Tfe fHdt 3mad &1 U 248 mm 3R TSTS 50 mm 8 ) M B TS Id12 :

Al:70 mm
70 mm

A2 :72 mm
72 mm

A3 :74 mm
74 mm

A4 :76 mm
76 mm

NUMERICAL ABILITY AND REASONING

In how many years the sum of Rs.6000 amounts to Rs 6960 at the rate’of 8% per annum? 1.0

6000 3. BT 8% NP &R T 6960 T, T H fora=TT THT T2

Al : 1 year
1

A2 : 2 years
2

A3 : 3 years
3y

A4 : 4 years
4

NUMERICAL ABILITY AND REASONING

What is the principal that earns Rs 300 as simple interest in 2% years at 10% per annum? 1.0

e gau &1 2% I6 H 10% D & 9 T 300 . T

Al :Rs. 1000
1000 2.

A2 :Rs. 1100
1100 .

A3 :Rs. 1200
1200°%.

A4 : Rs. 1300
1300°%.

0.00




96

97

98

99

96

97

98

99

NUMERICAL ABILITY AND REASONING

Which direction Mr.Basha facing now, If he walked 10 m towards east took a right turn and walked 15 m and again he took a right
turn and walked 25 m?

I =M 10 m G Fa=m & R 15 m 3T 7 5= 25 . ET¢ T St 1@ Su! faxn g2

Al : South

&

A2 : North

A3 : South - West

gieorufdm

A4 : West

NUMERICAL ABILITY AND REASONING
What price it should be sold to get profit of 10%, If a plot is sold for Rs 19,600 with a loss of 10%?

T U wiTe BT 10% B W 19,600 . T I 74T & @l 10% ATH T B I ¢ e Hed R S SIH1ATRY ¢

Al : Rs. 24,200
24,200,

A2 : Rs. 24,400
24,400%.

A3 : Rs. 24,600
24,600 2.

A4 : Rs. 24,800
24,800 .

NUMERICALABIFITY AND REASONING
What is the value for 75a — (-20a)?

75a — (-20a) BT AF FATZA?

Al:-95a
-95a

A2:95a
95a

A3:-105a
-105a

A4 105a
105 a

NUMERICAL ABILITY AND REASONING

What is the value of 15 m3 n* / 5 mn?
15m n*/ 5 BT AH Jasd?

Al :3m?n’
3m?n’

A2:3mn?

3 mn?

A3:3m*n’
3m*n’

1.0

0.00

0.00




Ad:3m?n’
3m?n’

NUMERICAL ABILITY AND REASONING

100

100

What is the value of Y, If 13y?+ 9 = 10622

Y &AM §a123, TS 13y2 + 9 = 10622

A3:10
10

Ad:11
11

1.0




Machinist Grinder

-No. Correct Answer Key
1 A4
2 A4
3 A1
4 A1
5 A3
6 A4
7 A3
8 A4
9 A3
10 A1
11 A2
12 A2
13 A1
14 A3
15 A2
16 A1
17 A4
18 A3
19 A1

20 A1

21 A1

22 A4

23 A2

24 A2

25 A1

26 A1

27 A3

28 A3

29 A2

30 A1

31 A4

32 A1

33 A4

34 A1

35 A4

36 A4

37 A3

38 A1

39 A3

40 A4

41 A2

42 A2

43 A1

44 A3

45 A2

46 A1

47 A1

48 A1

49 A1

50 A1

S.No. Correct Answer Key
51 A3
52 A1
53 A1
54 A1
55 A4
56 A1
57 A1
58 A2
59 A1
60 A2
61 A1
62 A2
63 A2
64 A3
65 A4
66 A3
67 A3
68 A1
69 A3
70 A2
71 A2
72 A2
73 A3
74 A2
75 A2
76 A1
77 A2
78 A3
79 A4
80 A3
81 A1
82 A2
83 A3
84 A3
85 A3
86 A1
87 A2
88 A3
89 A4
90 A4
91 A2
92 A2
93 A3
94 A2
95 A3
96 A4
97 A1
98 A2
99 A1
100 A2






